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Class – XII

Subject – CHEMISTRY 
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    M.Marks: 70                                 
     General Instructions: 
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                 1.  Half life of a reaction is inversely proportional to the initial concentration of the reactant.    

                      Determine the order of the reaction.
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  2.   Calculate the number of atoms in a FCC unit cell






1


  3.  Why is use of aspartame limited to cold foods and drinks? 





1


  4.  Give one example of HVZ reaction








1


  5.  Write IUPAC name of  CH3-CH=C-CH3







1

                                                                    CH2Br

     6.  Name the disease caused due to the deficiency of vitamin D.
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        7.  Convert aniline to benzene diazonium chloride.






1

     8.   What are co polymers? Give one example.
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     9.  How do antiseptic differ from disinfectant? Give one example of a substance which acts as 

             antiseptic as well as disinfectant.
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     10.  Explain the type of deviation exhibited by a mixture of phenol and aniline. Draw a suitable 

              Graph for the deviation shown by this mixture.
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    11.  2HI(g) 
H2(g) +I2(g) Ea at 581K is 209.5KJ/mole. Determine the fraction of molecules 

  having energy equal to or greater than Ea.
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       12.  What is activation energy? How is it related to rate constant k?
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       13.  Give four differences between physisorption and chemisorption.
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       14.  What are associated colloids? Give two examples. How does associated colloid differ from 

               Multi molecular and macro molecular colloids. 
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    15.   Compare the stability of +2 oxidation state of elements with outer electronic configuration

                3d64s2,3d54s2 and 3d34s2 in aqueous solution.
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                                                               OR  

                What is lanthanoid contraction? Mention two consequences of lanthanoid contraction.    

 2
       16.    Explain the mechanism of the reaction
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                                         H+
                CH3CH2OH                        CH2=CH2+H2O







                                         443K
        17.    Distinguish chemically between a) phenol and ethanol b)methanol and ethanol.
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     18.   Write the equation of the reaction involved in the preparation of Nylon66
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        19.   Al crystallizes in a cubic close packing structure (FCC)  Its metallic radius is 125 pm .Find           3
                 the edge length of   the unit cell. How many unit cells are there in 1cm3 of Al ? How many     

                 atoms are there in 1cm3 of Al ?


    20.   Calculate the boiling point of 1M  KCl solution. Density of solution=1.04g/cm3.


3
               Molar mass of KCl=74.5u  Kb=0.52K Kg mole-1.Assume KCl is 90% dissociated in aqueous   

               solution.

       21.    Give the structures of a) XeF2 b) H3PO2 c) H2S2O8






3
      22.    Account for the following:
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            a) Zn,Cd, and Hg are not considered as transition elements.
            b) Actinoid show variety of oxidation states.

            c)  E0Mn3+/Mn2+ has higer positive value than E0 Cr3+/Cr2+(Atomic number Cr=24,Mn=25)
     23.   a) Using Valence bond theory explain the structure and magnetic behaviour of [CoF6]3-

3
                  (Atomic number of Co=27)

             b)  Draw the geometrical isomers of [Co(NH3)3(NO2)3]
                                                                       OR
                What type of isomerism is exhibited by [Co(NH3)5Br]SO4? Write the IUPAC name of both the   

                 isomers. Give one chemical test to distinguish between these two isomers.


3    
  24.    Write the structure of the major products in the following reactions:
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             a)   (CH3)2C=CH2+HBr                
             b)   C6H5ONa+C2H5Br                       
             c)   CH3CH2Br+AgNO2                             

    25.     Outline the principles of refining of the metals by the following methods:



3
              a) Vapor phase refining b) Liquation c) Zone refining.

   26.     Account for the following:









3

            a) Methanamine is less acidic than methanol.

            b) Tert amines do not react with acid derivatives.

            c) Basic character of amines in vapor phase is 30amine>20amine>10amine
    27. a)  Explain the following with respect to protein a) Native state of protein b) peptide linkage

3

          b)  Two strands of DNA are not identical but complimentary to each other. Explain this statement.

   28.  a) Write the reaction involved at each electrode in H2-O2 fuel cell.
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          b) Give one similarity and one difference between fuel cell and other primary cells.

          c)  Calculate the potential of Hydrogen electrode in contact with a solution of pH =10.

                                                                      OR  
          a)   State Kohlrausch law of independent migration of ions.
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          b)   Write the reaction involved at each electrode in mercury cell.

          c)   Calculate the cell potential at 298K for the reaction

                 Zn+Sn4+             Zn2+     +Sn2+
                       (1.5M)          0.5M)     (2M)

                 E0Zn2+/Zn= - 0.76V   E0Sn4+/Sn2+= 0.13V

   29.  a)   Account for the following:
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          i) Group 18 elements have positive value of electron gain enthalpy.

          ii)  HF has highest boiling point while HCl has the lowest boiling point among hydrogen halide.

          iii) SF6 is known while SH6 is not known.

          b)  Give the products and balance the reactions:

          i)    Cu+H2SO4(conc)                   
          ii)   XeF2+PF5                             

                                                                     OR
           a)  Account for the following:
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            i)   XeF is not known.

            ii)  Fluorine has lesser negative value of electron gain enthalpy than Chlorine.

            iii) R3P=O is known while R3N=O is not known.
            b)   Give the products and balance the reactions:

             i)   PbS+O3 


             ii)  NaHSO4+NaCl                       

   30.  a)  Carry out the following conversions:
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            i)  Methanal to benzyl alcohol.

            ii) Benzaldeyde to 3-Phenyl propan-1-ol

            iii) Benzoic acid to m-nitro benzoic acid.

            b)  Give one example each of   

            i)  Rosenmund’s reduction
            ii)  Aldol condensation.

                                                      OR
                  a)  An organic compound A(C8H8O) gives orange red precipitate with 2,4-DNP reagent. It       
5
                      responds to iodoform test. It does not respond to Tollen’s reagent test. It does not decolorise 

 bromine water. A on oxidation using CrO3 give B. Identify the compounds and write the      

  equations of the reactions involved.

         b)  Give one example each of  

               i) Cannizaro reaction
               ii) Wolf Kishner reduction
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Answer all the questions.


Question number 1 to 8 carry 1 mark each. Answer them in one word or one sentence each.


      3.   Question number 9to 18 carry 2 marks each. Answer them in 30 words each.


      4.    Question number 19 to 27 carry 3 marks each. Answer it in about 40 words each.


      5.     Question number 28 to 30 carry 5 marks each. Answer them in about 70 words 


              each.


      6.    Use of calculator not permitted. Use of log table permitted
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